B VCE & PDF https://lwww.geekcert.com/jn0-451.html
' 2024 Latest geekcert JNO-451 PDF and VCE dumps Download
: GeekCert.com

JINO0-45104As

Mist Al - Specialist (JNCIS-MistAl)

Pass Juniper JNO-451 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://lwww.geekcert.com/jn0-451.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Juniper
Official Exam Center

@ After Purchase

@ Guarantee

O Free Update SKTISFACTION GUARANTEEp
@ Satisfied Customers

JNO-451 Study Guide | IN0-451 Exam Questions | INO-451 Braindumps 1/4


https://www.geekcert.com/jn0-451.html
https://www.geekcert.com/jn0-451.html
https://www.geekcert.com/jn0-451.html

VCE & PDF https://lwww.geekcert.com/jn0-451.html
2024 Latest geekcert JNO-451 PDF and VCE dumps Download

GeekCert.com

QUESTION 1

Your organization has recently purchased new VolP handsets. All of the VolP handsets fail to connect to the corporate
WLAN. However, all other devices connect successfully. You expect that there might be a bug with the new handsets.
The vendor asks you to provide a pcap file of the handsets\\' connection attempts.

Which Juniper Mist feature will provide this file?

A. Dynamic Packet Capture

B. Service Level Expectations

C. Clients Insights

D. Alerts dashboard

Correct Answer: A

QUESTION 2

Click the Exhibit button.

SE cu r[ ty Jte Primary Site 1Hr m | Generate PCI Repart | | View Client Classification
Threats Neighbor APs  Approved APs List Location
SSID BSSID Band Channel A Avg. RSSI Seen By Nearest AP Location
S —_— 1 559dBm  1APs AP43 Home
Frontier3384 L= 1 -76.6 dBm 1 APs AP43 Home
Verizon-5G_Tuna Emprm——— 1 -79.0 dBm 1 APs AP43 Heme
NETGEAR24 f o — 4 -78.2 dBm 1APs AP43 Home
Eero1234 B —— 5 -78.9 dBm 1APs AP43 Home
Bob24WiFi ey 6 -69.5 dBm 1APs AP43 Home

Referring to the exhibit, in the USA, which two statements are correct? (Choose two.)
A. The WLAN with SSID Eero1234 is not configured to industry best practices.

B. The WLAN with SSID Eero1234 is configured to industry best practices.

C. The WLAN with SSID NETGEAR?24 is not configured to industry best practices.

D. The WLAN with SSID NETGEAR24 is configured to industry best practices.

Correct Answer: AC
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QUESTION 3

You are asked to set up occupancy analytics for an office that has an existing Mist AP,
Which three types of devices are counted by default? (Choose three.)

A. mobile app clients

B. cellular clients

C. Wi-Fi clients

D. Zigbee clients

E. BLE assets

Correct Answer: ACE

QUESTION 4

Which two authentication methods would be used with a guest portal? (Choose two.)
A. social login

B. external portal

C.RSA

D. Kerberos

Correct Answer:. AB

QUESTION 5

Referring to the exhibit, you asked Marvis to troubleshoot a client. In this scenario, what did Marvis determine?
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MARVIS
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A. two authentication failures over this week
B. two DHCP failures today

C. DHCP errors over the past seven days
D. two authentication failures today

Correct Answer: A

Reference: https://www.mist.com/documentation/mist-experience-marvis-client/
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